Summary of section 2.1 on Sets

Subset AcB
“Set A 1s contained in set B”

Union of sets, A UB

“combination of A and B”

AUB={xlxe Aor xe B}

Intersection of sets, aNs ANB={xlxe A and xe B}

“overlap of A and B”
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Complement of a set, A A={xIxeU and x¢ A}
“elements 1in U but not in set A”
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Set Difference, A- B A-B={xlxe A and x¢ B}

“elements in A but not in B” A (‘

Cartesian Product or Cross Product, A x B AX B={(a,b)lac A and be B}
“ordered pairs of elements from sets A and B”

N

If A={r, w, b} and B= {j, k}, then
A X B = {(r})), (w,)), (b,)), (r,k), (w,k), (b.k)}



